
6/16/06
Info 720-2

  Installation of Programmable
Rotary Actuator to Butterfly Valves

This information is to be used in conjunction with Eclipse Programmable Rotary Actuator Instruction Manual 

minimum position is physically stopped at about a 15-degree angle when the shaft is turned fully counter-

Preliminary:

1. Insert the 3mm spring pin partially into the coupling.  

with pliers. 1.

2.

2. Install the coupling onto the actuator shaft and align 

the drive hole in the coupling with the through hole in 

the shaft.  A view from the hole on the backside will as-

sist alignment.

3.

3. Use slip-lock pliers to press the spring pin through 

the coupling and shaft.  Make sure the actuator body is 

supported and be careful not to apply excessive stress 

on the shaft. 



Litho in U.S.A.Info 720-2  6/16/06

4. Loosely attach the mounting bracket to the butterfly 
valve with the M8 bolts, flat washer and lock washer.  
Do not tighten at this time. 4.

5. The coupling has two sets of holes for the M4 screw 
that are offset by 90 degrees.  The set used depends 
on the rotation direction so it is important to rotate the 
valve shaft to the minimum (closed) position to match 
the actuator shaft position.  Slide the actuator and cou-
pling assembly onto the valve shaft.  Align the hole in 
the coupling with the M4 hole in the shaft, taking pre-
cautions not to move the valve shaft.

5.

6. Partially insert the M4 screw and lock washer 
through the coupling and into the valve shaft.

6.
7. Insert and finger tighten the M6 screw, washer, and 
lock washer through the bracket into the actuator.  Fin-
ger tighten the M8 bolts from step 4.

7.

8. Confirm the alignment of the valve shaft to the actua-
tor shaft by removing the M4 screw in step 6 and see if 
the valve shaft can be turned within the coupling.  Make 
adjustments as needed. 

8.

After Installation: 

Make all electrical connections and apply power.  Verify 
that the stroke motion is smooth over its entire range.  

application.

9. Tighten the M8 bolts to 5.1 N-m (45 lb-in) and the M6 
bolts to 2.2 N-m (19 lb-in).  Insert and tighten the M4 
bolt to 1 N-m (9 lb-in).

9.



Offered By: 
Power Equipment Company 
2011 Williamsburg Road 
Richmond, Virginia 23231 
Phone (804) 236-3800 
Fax     (804) 236-3882 

www.peconet.com


